Table S1. Standardized residuals covariance matrix.

I1 14 15 17 18 19 110 111 I2 TI14 115 Il6e I17 IT18 120 121 122 123 124 125 126 128 132 133 136
1 0.00
14 0.04 0.00
I5 0.04 0.04 0.00
17 -0.04 0.00 -0.04 0.00
I8 -0.03 -0.02 0.03 0.04 0.00
9 -002 -0.02 001 005 -0.01 0.00
110 -0.01 0.03 0.01 0.02 -0.02 0.09 0.00
I11 -0.02 001 -0.01 003 -0.00 004 0.02 0.00
112 010 -0.01 0.01 0.01 -0.04 -0.03 -0.05 0.00 0.00
114 -0.03 -0.03 0.03 -0.00 0.07 -0.05 -0.05 0.05 0.01 0.00
115 -0.00 003 0.01 -0.04 -0.00 -0.04 -0.01 -0.02 0.03 0.01 0.00
Il6 -0.00 001 -0.00 001 0.02 000 0.01 -0.02 -001 -0.04 0.04 0.00
117 0.05 0.01 0.08 -0.03 0.06 004 0.02 003 011 0.09 010 0.09 0.00
118 0.02 -0.06 -0.01 -0.01 -0.01 -0.05 -0.05 -0.04 0.05 0.06 0.01 -0.05 0.05 0.00
120 0.02 -0.02 -0.03 -0.01 0.02 -0.06 -0.04 -0.04 0.01 0.03 0.01 -0.03 -0.00 0.09 0.00
21 0.01 -0.02 -0.06 -0.01 0.03 -0.05 -0.03 -0.04 0.02 0.06 0.02 -0.06 -0.02 0.03 0.10 0.00
122 0.04 -0.06 -0.04 005 0.05 000 -005 001 0.03 009 001 -003 -0.01 003 001 0.05 0.00
123 0.05 002 011 003 0.04 001 -000 -001 0.05 0.06 002 003 005 -004 -0.04 -0.01 -0.00 0.00
124 0.06 002 0.03 006 0.00 001 -003 002 0.06 002 006 010 0.02 -0.06 -0.03 -0.04 -0.04 013 0.00
25 0.02 -0.02 0.02 002 -000 002 -002 001 0.04 002 005 003 000 -006 -0.04 -0.03 -0.01 0.03 0.10 0.00
126 0.06 -0.06 0.00 -0.01 -0.00 -0.07 -0.08 -0.03 0.05 0.09 0.01 0.02 004 003 -0.01 -004 001 0.00 0.03 0.04 0.00
128 0.05 -0.04 -0.07 001 000 -003 -006 -0.05 0.01 004 003 003 001 -0.00 -0.02 -0.03 0.01 -0.03 0.00 0.03 0.06 0.00
32 0.01 000 -0.03 -0.01 -0.05 -0.02 -0.02 -0.04 0.03 -0.03 0.02 0.01 -0.04 -0.02 -0.02 -0.03 -0.01 0.00 -0.00 -0.00 -0.01 0.08 0.00
133 -0.01 006 -0.01 006 0.01 004 010 008 0.05 001 0.09 006 -0.03 -006 -0.05 -0.02 -0.03 -0.00 -0.01 0.05 -0.05 -0.02 0.07 0.00
136 -0.01 000 -0.01 003 0.01 -0.00 -0.01 -0.03 0.05 0.00 0.07 0.01 001 0.02 -0.00 -0.01 -0.02 -0.04 -0.04 -0.02 -0.02 0.01 0.05 0.07 0.00




11 14 15 17 I8 19 111 112 115 116 118 121 122 123 125 126 128 132 136
In 0.00
14 0.04 0.00
15 0.04 0.04 0.00
17 -0.05  0.01 -0.04  0.00
18 -0.03  -0.02 0.03 0.04 0.00
19 -0.02  -0.00 0.02 0.06 0.00 0.00
111 -0.02  0.02 -0.01 0.03 0.00 0.06 0.00
112 0.09 -0.02  -0.00 0.00 -0.05 -0.03  0.00 0.00
115 -0.01 0.03 0.01 -0.04  -0.01 -0.03  -0.02 0.02 0.00
116 -0.01 0.01 -0.00 0.01 0.02 0.02 -0.01 -0.02  0.04 0.00
118 0.03 -0.05  0.00 0.00 0.00 -0.03  -0.02 0.05 0.02 -0.04  0.00
121 0.02 -0.00 -0.05 0.01 0.04 -0.02  -0.02 0.02 0.03 -0.05  0.05 0.00
122 0.04 -0.06  -0.05 0.05 0.04 0.01 0.01 0.02 0.00 -0.04 0.03 0.05 0.00
123 0.06 0.03 0.12 0.04 0.05 0.03 0.00 0.05 0.02 0.04 -0.03  0.01 -0.00  0.00
125 0.03 -0.01 0.02 0.03 0.00 0.04 0.02 0.03 0.05 0.04 -0.04  -0.01 -0.01 0.04 0.00
126 0.06 -0.06  0.00 -0.01 -0.00 -0.06 -0.03 0.03 0.00 0.01 0.03 -0.04  0.00 0.01 0.04 0.00
128 0.04 -0.04 -0.07 0.01 0.00 -0.03  -0.06 -0.01 0.02 0.02 -0.00 -0.03 -0.01 -0.03  0.02 0.05 0.00
132 0.01 0.01 -0.02  -0.01 -0.05  -0.01 -0.04 0.01 0.01 0.01 -0.02  -0.02 -0.02  0.00 -0.00 -0.02  0.07 0.00
136 -0.01 0.01 -0.00 0.04 0.01 0.01 -0.03  0.04 0.07 0.01 0.03 -0.00 -0.03 -0.03 -0.02 -0.02 0.01 0.05 0.00




11 14 I5 17 18 19 I11 112 115 116 118 121 122 125 126 128 132 136
11 0.00
14 0.04 0.00
15 0.04 0.04 0.00
17 -0.05 0.00 -0.04 0.00
18 -0.03 -0.02 0.03 0.04 0.00
19 -0.02 -0.00 0.02 0.06 0.00 0.00
111 -0.02 0.02 -0.01 0.03 0.00 0.06 0.00
112 0.09 -0.02 0.00 0.00 -0.05 -0.03 0.00 0.00
115 -0.01 0.03 0.01 -0.04 -0.01 -0.03 -0.02 0.02 0.00
116 -0.00 0.01 0.00 0.01 0.02 0.02 -0.01 -0.02 0.04 0.00
118 0.03 -0.05 0.00 0.00 0.00 -0.03 -0.02 0.05 0.01 -0.04 0.00
121 0.02 0.00 -0.04 0.01 0.05 -0.02 -0.02 0.02 0.03 -0.04 0.04 0.00
122 0.04 -0.06 -0.04 0.05 0.05 0.01 0.02 0.02 0.00 -0.04 0.02 0.05 0.00
125 0.03 -0.01 0.03 0.03 0.01 0.05 0.02 0.04 0.06 0.04 -0.04 -0.01 -0.01 0.00
126 0.06 -0.05 0.01 -0.01 0.00 -0.06 -0.03 0.03 0.01 0.02 0.03 0.04 0.00 0.05 0.00
128 0.05 -0.04 -0.07 0.01 0.00 -0.03 -0.06 -0.01 0.02 0.02 -0.01 -0.03 -0.01 0.02 0.04 0.00
132 0.01 0.01 -0.02 -0.01 -0.04 -0.01 -0.04 0.02 0.01 0.01 -0.02 -0.02 -0.02 0.00 -0.02 0.07 0.00
136 -0.00 0.01 0.00 0.04 0.01 0.01 -0.03 0.04 0.07 0.01 0.02 -0.00 -0.03 -0.02 -0.03 -0.00 0.05 0.00

Note. I=ltem.



